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WS-7 Polar Coordinates
I.
For the following problems, a point in polar coordinates is given. Find the corresponding rectangular coordinates for the point.
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II.
For the following problems, plot the point given in polar coordinates and find three additional polar representations of the point, using 
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III.
For the following problems, plot the point given in polar coordinates and find the corresponding rectangular coordinates for the point.
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IV.
For the following problems, the rectangular coordinates of a point are given. Plot the point and find two sets of polar coordinates for the point for 
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V.
For the following problems, convert the rectangular equation to polar form. 

Assume 
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VI.
For the following problems, convert the polar equation to rectangular form.
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VII.
For the following problems, describe the graph of the polar equation and find the corresponding rectangular equation. Sketch the graph of the rectangular equation.
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WS-7 Polar Coordinates

I.
For the following problems, a point in polar coordinates is given. Find the corresponding rectangular coordinates for the point.
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II.
For the following problems, plot the point given in polar coordinates and find three additional polar representations of the point, using 
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III.
For the following problems, plot the point given in polar coordinates and find the corresponding rectangular coordinates for the point.
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IV.
For the following problems, the rectangular coordinates of a point are given. Plot the point and find two sets of polar coordinates for the point for 
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V.
For the following problems, convert the rectangular equation to polar form. 


Assume 
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VI.
For the following problems, convert the polar equation to rectangular form.
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VII.
For the following problems, describe the graph of the polar equation and find the corresponding rectangular equation. Sketch the graph of the rectangular equation.
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